FIELD INSPECTOR (STORE)
Morning Slot

-1-

Download from www.MsEducationTv.com



Field Inspector (Store)

The sum total of weather conditions and
variations over a large area for a long
period of time is called

(A) Weather (B) Climate
(C) Hot weather (D) Cold weather

What are the elements of the secondary
diagonal of the matrix

1 4 7
M=[2 5 8

3 6 9
(A) 7,5,3 (B) 1,5,9
(C) 4,5,6 (D) 2,5,8

Who among the following introduced
local Self-Government in India ?

(A) Lord Canning

(B) Lord Rippon

(C) Raja Ram Mohan Roy
(D) Lord Mountbatten

The most abundant gaseous element in
the atmosphere is

(A) Nitrogen
(C) Hydrogen

(B) Fluorine
(D) Chlorine

Which of the following river forms the
border between Haryana and

Uttar Pradesh ?
(A) Saraswati

(C) Yamuna

(B) Ghaggar
(D) Sahibi

The ratio between the volumes of two
spheres is 27 : 8. What is the ratio
between their surface areas ?

(A) 9:4 (B) 6:4
C 3:2 (D) None of these

T JEd Ja¥l oh ol 3aty ot Hew aifedfaat
3R 3% ST % Pl SIS I hed ©
(A) HraH (B) w&aTg
(C) 307 HEH (D) sfia o™
Afeam & u-foehol qek w2 7

1 4 7
M=|2 5 8

3 6 9
(A) 7,5,3 (B) 1,5,9
(C) 4,5,6 (D) 2,5,8
= 8 o 9 fopom e § T s -seH
T ok 7
(A) TS FHiT
(B) @ quq

(C) TSI TH Wi 1
(D) <TE HI3esieA

IS H He FATd HIEAT H T SHare
et geta &

(A) g (B) i

(C) TRIgH (D) It
fFrefafaa o @ st <t gfamn 3tk
IS o T T ST 8 7

(A) Tl (B) =R

(C) g (D) wrfesh

31 gl % T%Al T A 27 1 8 T Ik
T SAHA o sl T ST FAT BT 7
(A) 9:4 (B) 6:4

(C) 3:2 (D) 98 W whiE T



10.

11.

12.

13.

Which of the following climatic controls is
the most important ?

(A) Latitude

(B) Altitude

(C) Pressure and wind system
(D) Continentality

Elections for the post of the President of
India takes place after every

(A) General election of the parliament
(B) Four years

(C) Five years

(D) Six years

What is the total number of seats in
Lok Sabha from Haryana ?

(A) 10 (B) 7

(© 8 (D) 12

The Geometric mean between 7 and 28
is

(A) 11 (B) 12

(©) 13 (D) 14

Capital of Afghanistan is
(A) Kabul (B) Kandahar
(C) Herat (D) None of these

Energy in the water stored in a dam is
(A) Kinetic energy (B) Potential energy
(C) Practical energy (D) None of these

How much should a man invest in ¥ 50
shares selling at ¥ 60 to obtain an
annual income of ¥ 900 if the dividend
declared is 15% ?

(A) T 9,000
(B) ¥ 7,500
(C) % 7,200

(D) None of these
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= # 9 e Saay-fowaes v sea
HE@qUl & 7

(A) ererrst

(B) =g

(C) =& 3R a1g g

(D) WHETEHdr

TR o Teufd T TS erel &
(A) TS W I % 918
(B) <R UTA 18

(C) UT= |t &g

(D) BT 9T a8

TRATON o TAThET Hi 1 T Tohe1
e g ?

(A) 10 (B) 7

(C) 8 (D) 12

7 3R 28  sfiwr o1 saAfifaes we @

(A) 11 (B) 12

(C) 13 (D) 14
IR Sl Tt 8

(A) <TgA (B) halER

(C) &@ (D) T 9 IS e
ity 4 wufed o | St il ]

(A) TSt St (B) feufaw =it
(C) TRfih st (D) 39 @ 1S e

T 50 AT LS T 60 W &= ST 7, foha
o @ Tt Smet T 900 BRfY
YT AT 15% B 7

(A) T 9,000

(B) % 7,500

(C) T 7,200
(D) 78 | IS T
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14.

15.

16.

17.

18.

19.

20.

Abhinav Bindra, who won gold in 2008
Beijing Olympics, is associated with
(A) Boxing (B) Swimming
(C) Weight lifting (D) Shooting

What is the name of the garden situated
in Pinjore ?

(A) Yadavendra Garden

(B) Karna Lake Garden

(C) Rose Garden

(D) Sultanpur

Which of the following is called ‘Sunshine
Vitamin’ ?

(A) Vitamin A
(C) Vitamin C

(B) Vitamin B
(D) Vitamin D
Find the compound interest on ¥ 5,000

for
2 years at 10%.

(A) X 1,000 (B) X 1,500

(C) ¥ 1,050 (D) None of these
‘Children’s Day’ is observed on

(A) Jan. 30 (B) Oct. 2

(C) Jan. 26 (D) Nov. 14

Who invented penicillin ?
(A) Alexander Fleming
(B) Louis Pasteur

(C) Dreser

(D) Edward Jenner

Which holy place has the same
importance as Gaya for performing post
death rituals of Ancestors ?

(A) Pehwa

(B) Asthal Bohar

(C) Kurukshetra
(D) Kameshwar
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15.

16.

17.

18.

19.

20.

1A 2008 o ST Aifcrfuss § gavl uasw
AT 31fia foes 56 Wt @ T §
(A) epaTSHT (B) Tt

(C) desded (D) M
oA R mETm T T e ?

(A) ATEAE TEA

(B) Ul ik e

(C) TS TreA

(D) HedgX

= 3 @ fordt o foarfim e 8 7

(A) foafimg (B) foerfim &ft
(C) foerfim =t (D) Tt <t

10% =a1<1 X & T 5,000 W < 8T ol The (g
ST BT

(A) T 1,000 (B) ¥ 1,500
(C) T 1,050 (D) 378 | IS e
‘aret feae gm0 T wmn ST @

(A) 30 sHad (B) 2 IR
(C) 26 SHadl (D) 14 9ER
UfTeret =1 amfasehr fope fomam 7

(A) STAHSATE FATHT (B) TS UTE=
(C) g (D) TS S
Ut & =g & fore e o ae T e
i e ST g ?

(A) ugan

(B) 3T SIeT

(C) Fead

(D) MR



21.

22.

23.

24,

25.

26.

A man bought 500 shares of face value
of ¥10 and during the first year after
purchase receives X 400 as dividend on
his shares. Find the rate of dividend on
his shares.

(A) 8%
(C) 10%

(B) 12%
(D) 15%

Major harmful gas emitted by automobile
vehicles which causes air pollution is

(A) Carbon monoxide
(B) Methane

(C) Carbon dioxide
(D) Ozone gas

Hypertension is the term used for
(A)
(B)
(©€)
(D)

What is the meaning of the Haryanvi
idiom ‘Chilam Bharna’ ?

(A) To keep ready Hookah

(B) Taking advantage from children
(C) Sweet talk

(D) Doing good work

Increase in heart rate
Decrease in heart rate
Decrease in blood pressure
Increase in blood pressure

The sum of the first ‘n’ natural numbers is
496. Find ‘n’.
(A) 30
(© 31

(B) 32
(D) 33

A light-year is a unit of
(A) Time (B) Distance
(C) Velocity (D) Energy
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T Afdq T 10 AfRd qed % 500 IRR GlEar
g 3R @led & 916 Th 9N I AAY H 34
400 37 IR TR ATHIL T Brel 2| 37 IR
T AT ST AT
(A) 8%
(C) 10%

(B) 12%
(D) 15%

1 TGNUT k1 hROT BHATAT R o gRT ScarSid
T T B R

(A) <hTE HIHIFATSS

(B) fuem

(C) FIeH T8 ATeaTsS

(D) &= i

3= T 39 hed B
(A) a7 | SeE
(B) %&d i § =t
(C) Tarq=ma | st
(D) Y=g U TR
TR qETarT Tt won’ Rt R
af g ?

(A) TFRT IR &
(B) s=eIl O M T
(C) GHE &hET
(D) 3T=3 Y HEAT

Ife Tgd ‘n’ ATfileR TRl 1 AT 496 B G,
‘n'®

(A) 30 (B) 32
(C) 31 (D) 33
TRIST-TY SHeh TS &

(A) w73 (B) =
(C) =m (D) i
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27.

28.

29.

30.

31.

32.

33.

Where Haryana’s first military school is
established ?

(A) Kunjpura
(B) Manesar
(C) Hisar

(D) Madhuban

H.C.F.of%, %andi is

10
5
(A) 5 (B) 2
9 1
©) 10 (D) 30

The view that the state is a necessary
evil is associated with

(A) Individualists (B) Anarchists
(C) Marxists (D) Sophists

The Vice President of India is elected by
(A) Members of Lok Sabha
(B) Members of Rajya Sabha

(C) Members of both Houses of
Parliament

(D) Members of all State Legislation

In Haryana, ‘Twisted Bread (Roti Ka
Mudh Jana)’ is the sign of which of the
following ?

(A) Arrival of rain

(B) Going out from home

(C) Purchase of animal

(D) Arrival of guest at home

fas _ 21
? 36

(A) 84
(C) 64

(B) 12
(D) 144

The statement that the state is an ethical
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27.

28.

29.

30.

31.
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EREATON 1 Her8 UgeT dfeh Wha Fat
TTiUd g1 ?
(A) FeTgT
(B) AT
(C) &R
(D) =g
&, 2 oM ) 1 Tl @
1 5
(A) 5 (B) 4
9 1
©) 0 (D) 30
TSI Toh TEvIh I8 8, I8 Hd 314 qraf-ed ©
(A) =afFaaes (B) STISIhaTe!
(C) wTeRfaTat (D) FHasht
TR o SIS <l 3Tk ST AT ST 2

(A) < AT T

(B) TS |1 UL

(C) ©Hg % ST UEHl o daed
(D) st U=l o faeame qued & vew

ghEmm # U w1 g SE1 ford o o
qoh g

(A) ST A H

(B) TR T JEAT i

(C) U GlieH &

(D) HEHT ER | 3T

49 _21
? 36

(A) 84
(C) 64

(B) 12
(D) 144



34.

35.

36.

37.

38.

institution which is indispensable for the
full moral development of man is
attributed to

(A) Individualists
(C) Idealists

(B) Anarchists
(D) Marxists

If X and Y are brothers, Z is sister of X, P
is brother of Q, Q is daughter of Y, how
is X related to P ?

(A) Father
(C) Brother

(B) Uncle
(D) Grand Father

Which of the following is the Haryana’'s
largest sacred pond, made up of paved
from all around ?

(A) Falgu Sarovar

(B) Brahma Sarovar

(C) Kapal Mochan

(D) Sannihit Sarovar

After Jeevan gave Rs. 12 to Hamid and
Hamid gave Rs. 4 to Jeevan, both had
equal amounts with them. Who had the
smaller amount initially and by how
much ?

(A) Hameed by Rs. 16
(B) Jeevan by Rs. 4
(C) Hameed by Rs. 12
(D) Jeevan by Rs. 8

A man is facing south. He turns 135° in
the anticlockwise direction and then
180° in the clockwise direction. The
direction he is facing now is

(A) North-East (B) North-West
(C) South-East (D) South-West

Which of the following district’'s border of
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IE FYA S hedl & UsT Tk Afder ger g s
T o Ui Ak T & forg stfamd 2, ==
T AT A 90 ]

(A) TR (B) STISTehHATE!

(C) erevtaTet (D) wTerHaTE

IR X MY TER, ZT X FI TR, P T8 Q
FUEE, QI Y HaA B dl, X P A F
qrare ?

(A) foar (B) =rmem

(C) =g (D) <=t
AT o1 T foeTTe, =i % © Uefeh]
T G Ul TR S A1 8 7

(A) e HR

(B) &I ETIM

(C) =hIT HI=H

(D) wf=ifed T

S gHie ol Sfied 12 &, 31§ 3T Sfted hl
gHIE 4 %. 21 8, q9 1 o ITH Ueh 9 ThY
TS ST &1 TR | fohteh 918 1 Tohd oft 31
Torat o oft ?

(A) THE R TETE. 169

(B) SlaA & U@ ®. 49

(C) eflehums. 129

(D) SEA &% UH % 89

U et gfaor it SR figE } | 97 amTEd
feem @ 135° =man 7 o fX 180° afemomad
foem & goar 7 | o 92 fow foen @ sifvmga 2,
ER

(A) S-gd
(C) afemr-d

(B) IW-ufs=m
(D) =f&ror—ufyem
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39.

40.

41.

42.

43.

44,

Haryana is not touching the bank of
Yamuna River ?

(A) Panipat

(B) Rohtak

(C) Yamuna Nagar

(D) Sonipat

According to Aristotle

(A) State is a divine institution
(B) State is an artificial creation
(C) State is a creation of force
(D) State is natural institution

92 + 8+2="7

(A) 5.25 (B) 4.25
(C) 5.75 (D) 4.75
The term ‘city state’ is generally

associated with

(A) Ancient Egypt
(B) Ancient Greece
(C) Ancient China
(D) None of the three

Expansion of IAS is

(A) Indian Administrative Service
(B) Indian Administration Service
(C) Indian Administrator’s Service
(D) Indian Admiration Service

If all the numbers from 501 to 599 are
written, what is the total number of times
does the digit 6 appear ?

(A) 11 (B) 12
(©) 20 (D) None of these

Sonipat city is famous for which industry ?
(A) Cement

38.
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40.

41.
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43.

AT St o G, i o fefaRed ®§ 9
form ftet <t el = et ?

(A) dHIId

(B) Ugdsh

(C) IGTR

(D) I

3ifeied & IR

(A) TST Teh ST TE1 3

(B) T4 TF FHm gfe 3

(C) T TAFHI g

(D) <A Tk TATHTIh HEAT B

92 + 8+2="?
(A) 5.25 (B) 4.25

(C) 5.75 (D) 4.75

‘TTEL TS’ I Y15 AT 39 Trelf-ad B
(A) WER3R (B) W W
(C) =i = (D) i & =h1g e
TE.T.TH. 1 U1 foeam 2

(A) sfeam siefmffeda afda

(B) sfeam fsfufreym afdw

(C) 3feam Femfeded ufdg

(D) sfeam Fehingm afda

Ife 501 ¥ 599 FwEAT¢ few St € a1, foha

TR 6 T 37 fe@rs < ?
(A) 11 (B) 12
(C) 20 (D) T & &S T



45.

46.

47.

48.

49.

50.

(B) Bicycle
(C) Cotton clothes
(D) Car

Using the digits 3, 2, 5, 6, 9, how many
three digit even numbers can be made
without repetition ?

(A) 10
(C) 60

(B) 24
(D) None of these

Srinivas Ramanujan was a great
(A) Lawyer

(B) Mathematician

(C) Medical practioner

(D) Film star

Metro first reached in which city of
Haryana ?

(A) Gurgaon
(C) Faridabad

(B) Sonipat
(D) Rohtak

At which place did Lord Krishna preach
the message of Geeta to Arjun ?

(A) Panipat

(B) Jyotisar (Kurukshetra)

(C) Pandu Pindara

(D) Kapisthal

In which climate zone is rainfall low,
highly variable and undependable ?

(A) Mid latitude western continental
margin

Tropical
Humid mid-latitude
Polar

(B)
(©)

(D)

Kurukshetra’s Sthaneshwar temple was
rebuilt by whom ?
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Giiad TR forg 32 o foru aftg 2 ?
(A) famee

(B) WTSehet

(C) Heft o

(D) =R

3,2, 5, 6, 9 T IUANT L e R fohaT
T 37R! ITefl T9 TEIR SATE S Hehdl © 7

(A) 10 (B) 24
(C) 60 (D) ¥ & =g I

q |

#fiTeTe THTESH T weH
(A) Fhie

(B) Tfvras

(C) slaX

(D) foen arfeman

SREATON o fohe TTEX H Bl Hod 9acd
e

(A) T (B) HHUd
(C) wieTee (D) Ugde

TS 0T A T 1 3R fohg T W
319} 1 feam ?

(A) A

(B) vEfaer (Fwar)

(C) g e

(D) hiuEere

HY STAary Hiead H a9 A, A AR
3R SAfovaafia et 2 7

(A) WHET NEATIT UTIIHT WETEIUT /AT

(B) 3Wrehfsreft

(C) T3 "AeA-37&f™

(D) g
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51.

52.

53.

54.

55.

(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao
(C) By Prabhakar Wardhan

(D) By Chandragupt Vikramaditya

Which of the following female
mountaineer has conquered Mount

Everest twice ?

(A) Malleshwari

(B) Santosh Yadav
(C) Mamata Kharab

(D) Sunita Sharma

Which type of climate classification
scheme uses vegetation patterns as a
prominent feature ?

(A) Tropical
(C) McClatchy

(B) Koppen
(D) Maxfield

Which of the following religious and
historical place is located in Lakhan
Majra village ?

(A) Saint Meershah Majar

(B) Manjisahib Gurudwara

(C) Shekh Nizzamudin Majar

(D) Suryakund

Which city is famous as the “City of
Weavers” ?

(A) Karnal

(B) Ambala

(C) Yamuna Nagar
(D) Panipat

Concept of permanent consumption was
introduced by

(A) Samuelson (B) Simon Kuznets
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50.

51.

52.

53.

4.

FEaT o TATIYR Tt 1 GATHHTT
Frafafaa o & formeh g seamn wan ?
(A) TS g¥aeq g

(B) WRTST WETRIE TS FRT

(C) TR aEq g1

(D) T= farshHTIGed I

Hfeet darie! e < o1 ATeve TR W
Torsrasht gt &t ?

(A) T

(B) G-Iy AT

(C) HHAT &S

(D) gt ¥

TorE TeRT SRl STcTaTg A TeRtoT ASHT aEdfd
U 1 THE T % ®9 T IUNT Ll © 7
(A) IUTHIEE (B) =hIu=

(C) Wepehalt (D) Tt

TG /IS TMid H 91 dTfies T
UfereTfies Taa ® 7

(A) Td HRITE 7SR

(B) USfHHTES THERI
(ORRUCASEIHERS I

(D) FFUe

‘Gl 1 e % T H AT TR
foema g ?

(A) =LA

(B) 3TeITeAT

(C) IR
(D) UIua



56.

S7.

58.

59.

60.

61.

62.

63.

(C) Milton Friedman(D)Harrod

National Milk Production Research
Institute is located in which of the
following city ?
(A) Panipat
(C) Karnal

(B) Yamunanagar
(D) Faridabad

Haryana'’s first university was established
in which city ?

(A) Kurukshetra

(B) Karnal

(C) Rohtak

(D) Murthal

Speenlative demand for money is
inversely related to

(A) Rate of interest(B) Income
(C) Money supply (D) Investment

Bhagavad Gita is included in the Indian
epic

(A) Ramayana
(C) Brihadayana

(B) Mahabharata
(D) None of these
In which city Kanod's fort is situated ?

(A) Narnaul (B) Mahendragarh
(C) Thanesar (D) Hansi

Which is the least literate district in
Haryana ?

(A) Rewari
(C) Mewat

(B) Mahendragarh
(D) Bhiwani

In Cobb-Donglas production function
elasticity of factor substitution is equal to

(A) Zero (B) Infinity
(C) One (D) Two

Sultanpur Bird Sanctuary is located in
which district of Haryana ?
(A) Gurgaon (B) Rohtak

(C) Panchkula (D) Faridabad
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Tt IUHT ShT T T S8 T 1

(A) RIS (B) TR FHoicd
(C) Taeeqwrgewq (D) s

TS T4 IeITE I T Tohd TR
Hfeqe?

(A) THTd (B) IR

(C) &ETA (D) ®eETg
giemon & yum favafomme fea
T g ?

(A) THET

(B) HATA

(C) Ugdeh

(D) T

99 A rffvg 9 39 gfdervd: grfee 2
(A) SIS R (B) ™

(C) WH amgfd (D) Faw

A o 38 HeTeh1ed § STEEI{idT o1 THTaS ©
(A) THET (B) WEIWRA

(C) w&erHA (D) T8 @ whis =l
TS o forett forer T H feorq @ 7

(A) AT (B) We=Tg

(C) A= (D) =

RATOT kT T8 shH TT&AT ST STt
FHETR ?

(A) @t (B) WG

(C) WaTa (D) ferar
FHIA-SIAH o 3T T H heh TTTEATI
AT 35k SIS BT &

(A) = (B) 3=

(C) wH (D) =
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64. Space Scientist Kalpana Chawla was 63. geamg[t{aﬁ ferer o < fore foret

born in which city ? qg?
(A) Panipat (B) Karnal (A) T (B) Ugds
(C) Kaithal (D) Gurgaon (C) Tl (D) WieETe

65. “If an oligopolist decreases his price the | g4 STTET ATF T AT 1 S0 o

Q\S/ZILSmF;/vﬁl(I)In foofllow . This is the basis Wﬁ‘g’i‘}ﬂ ?
_ (A) TTTd (B) AT
(A) The kinked supply curve .
o (C) o (D) T
(B) The oligopolistic demand curve
(C) The kinked demand curve 65. " Jfe Uk TUTIIHT STIHT 19 FH L HLdT ©
(D) The demand curve qt 35ek wfcarft off adt st 7 | IE 39t g
RO B
Directions (Qs. 66-68) : Choose the (A) Uargar g s
alternative which does not belong to the group (B) ST 7 9%

to which the other three belong. © ﬁa'rganﬁnam

66. (A) Arjuna (B) Bheema (D) #ima®
(C) Sahadeva (D) Duryodhana
et (v, . 66 @ 68) : TET fashed FiT S 3R

67. (A) 20 (B) 19 , ’
(C) 18 (D) 16 e % HE 9§ et e 2 |
68. (A) Chlorine (B) Oxygen 66. (A) ST (B)
(C) Iron (D) Hydrogen (C) "eea (D) gaeA
69. The first thing that primitive man learnt| 67. (A) 20 (B) 19
was (C) 18 (D) 16
(A) To make a wheel .
(B) To domesticate animals 68. (A) iR (B) ATt
(C) To lead a settled life (C) et (D) TISSH
(D) To make fire 69. a7 WrE I vEe e g
(A) T ST
(B) &l =l UTeiT

70. ‘Sur Esteem Reward’ is provided for
special talent of which area ?
(A) Cinema (B) Agriculture
(C) Literary (D) Games

(C) &g Sfte feramn
(D) 3T U= AT
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71.

72.

73.

5 years ago, the average age of A, B, C
and D was 45. With E joining them now,
the average age of all the five is 49
years. How old is E ?

(A) 64 years (B) 45years
(C) 25 years (D) 40vyears

In which district of Haryana has a railway
workshop ?

(A) Gurgaon

(B) Sirsa

(C) Faridabad

(D) Yamuna Nagar

The palaeolithic man lived on
1. Hunting
2. Fishing
3. Cultivation

4. Food-gathering
Choose the correct answer group.

(A) 1,23 (B) 1,2, 4
(C) 2,3,4 (D) 1,3, 4

Directions : (Qs. 74-76) : Choose the one
which does not belong to the group of other
three.

74.

75.

76.

7.

(A) East (B) Mouth

(C) South (D) West

(A) Square (B) Rhombus

(C) Triangle (D) Parallelogram
(A) Mother (B) Brother

(C) Father (D) Nephew

In which of the following respects, the

various Harappan sites have marked
uniformity ?

(A) Agricultural practices
(B) Cerafts

Field Inspector (Store)

70. ‘W 9WE qEER fohe & o faftre gfawn
% foTe yem ferm ST & 7
(A) T (B) Ff§
(C) wifEea (D) @A
71. dfa 9 9d A, B, C 3R D il 3itea 311y 45
off | 19 3T E et grar ® S 37 0T 39
il sl 3ftEd Y 49 TN T S § | E i 3T
fRafi 2 ?
(A) 64T (B) 454
(C) 2599 (D) 4099
72. g o fhe foret 4 i ST I § 7
(A) T
(B) fewar
(C) wiiqreTe
(D) IFATTR
73.  QOTEH A o Siia fate 3ed g o
1. R&R
2. HgATE
3. @t
4. F-TURT
TR T A I = T, |
(A 1,2,3 (B) 1,2,4
(C) 2,3,4 (D) 1,3, 4
fdw : (3. 74 @ 76) : It N1 F TR T S
EIGEIRCITIE
74 (A) T (B) He
(C) sfequr (D) dfvem
75. (A) =t (B) wH=gHS
(C) Fremror (D) HHR wgH
76. (A) @l (B) g
(C) o (D) st
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78.

79.

80.

(C) Town planning
(D) Seals

Which letter should replace the question
mark in the following series ?

GHIM?V
(A) Q
(B) P
(€) O
(D) R

Dosi Pilgrim is located in which district ?
(A) Hisar

(B) Karnal

(C) Mahendergarh

(D) Bhiwani

The largest number of Harappan sites in
post independence India have been
discovered in

(A) Gujarat

(B) Punjab and Haryana
(C) Rajasthan

(D) N.W. Uttar Pradesh

77.

78.

79.

80.

=1 o @ form T ¥ gewn & fafy= ot |
BEIERIRIEC I G IR

(A) FNH g

(B) =RITI

(C) TR SRSH

(D) AR

=1 saen 1 w1 fomg it SR e 31eR
BT =TT, 7

GHIM?V

(A) Q

(B) P

(C) O

(D) R

@ el fopm foar o fda © 7
(A) feam

(B) h{ATA

(C) AE=TE

(D) foarht

AT o 91 YA H TS o Faid 3TTereh T
DRECISKID]

(A) Toad

(B) UwTa 3R giamom

(C) TeEa™

(D) 3. 9. WIS
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English Language

Directions : (Qs. 81-83) : You are required to
rearrange the parts labeled P, Q, R and S to

produce the correct sentence. Choose the correct

sequence.

81. |have

P : any fragrance

Q : and more penetrating
R : never come across

S : that is more beautiful
(A) PQRS

(B) SRQP

(C) RQPS

(D) RPSQ

P : come to have a look at the girl
Q : the party that had

82.

R : his eldest sister and a lawyer friend of

theirs
S : consisted of the boy’s parents
(A) QSPR
(B) QPSR
(C) QRSP
(D) QRPS

83. P :the postman

Q : brings letters

R : relatives and friends
S : from far off

(A) PQRS

(B) PQSR

(C) RSPQ

(D) PRQS

Directions (Qs. 84-85) : Choose the word which

is most similar in meaning to the given word :

84. Pardon
(A) Produce
(B) Excuse
(C) Sell
(D) Develop

-15-

85.

86.

Field Inspector (Store)

Mandatory
(A)
(B)
(©)
(D)

Real
Bravery

Required

Discovery

Plural of “ox” is
(A) oxes

(B) ox

(C) oxen

(D) oxus

Directions (Qs. 87-89) : Find out which part (A),

(B) or (C) of the sentence has an error. If there is

no error, your answer is (D).

87.

88.

89.

90.

The house with all its (A)/furniture and
exotic plants (B)/were sold for Rs. 60

Lakhs. (C)/No error (D).

Many a student (A)/are frustrated
(B)/because of unemployment. (C)/

No error (D).

They walked (A)/besides each other (B)/

in silence. (C)/No error (D).

Choose the alternative which best

expresses the meaning of “RAGE”.
(A)
(B)
(©)
(D)

rank
rule
care

anger
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ot (91 iR 92) : THH 31 T AT W68 T TR

o=t s

fafigu)

91.

92.

g (93 @R 94) : 3o feendss g gt faafaw

93.

94.

95.

EEG)

(A) et
(B) wifxr
(C) =@
(D) st

GISIES

(A) @
(B) AThIRI
(C) urft
(D) IR

|
(A) T
(B) =@
(C) gum
(D) W
wefa

(A) TE=
(B) 14H
(C) gudH
(D) wHH

1%@%#113%%%‘
(A) =7

(B) T 3R 3ren
(C) W= a

(D) =T

-16-

96.

97.

98.

99.

100.

TE-seAd  wHE R
(A) a1

(B) %3

(C) HHuRa

(D) wgshfe

T ST I[E 9T 2
(A) [\ A [ T
(B) T U @t

(C) TH 3T @
(D) 9T @R

e feu T et # foT T v1ea ol g
fetfam|

(A) TEERt

(B) F=m

(C) el

(D) faem

AT 368 %1 Tga= F9 8 |
(A) waTg

(B) #rd

(C) wara

(D)

TR fawfea T e @Telt sig 9T |
Hig
(A)
(B) &
(C)
D) &

TE TATR |
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1.

The length and breadth of a rectangle
are 8 cm and 6 cm respectively. Find
the length of its diagonal.

(A) 12cm (B) 11cm

(C) 10cm (D) 9cm

D is the daughter of A. B is the wife of
the father of the sister of D. How is A
related to B ?
(A) Son

(C) Husband
Expand UPSC.
(A) United Public Service Community
(B) Union Public Service Commission
(C) United Public Service Centre

(D) Union Public Security Commission

(B) Grandson
(D) Son-in-law

What is the name of the garden situated
in Pinjore ?

(A) Yadavendra Garden

(B) Karna Lake Garden

(C) Rose Garden

(D) Sultanpur

When a book is sold for Rs. 60, there is
a profit of Rs. 10. What is the percentage

of profit ?
(A) 20% (B) 16.25%
(C) 12% (D) 15%

C istaller than A but shorterthan B. E is
taller than B but shorter than D. Who is
the tallest ?

(A) A (B) D

(C) B (D) C
Ashwaghosha who lived in the court of
king wrote Buddha Charita.
(A) Kaniska (B) Babur

(C) Vikramaditya (D) Ashoka

In Kurukshetra district, where is the
sugar mill located ?
(A) Shahabad
(C) Pehwa

(B) Ladwa
(D) Thanesar

Teh 3T oh! IS 31 <1eTS shAsT: 8 T,
3 6 .. 7| 3Hk formul Al e AT
s |

(A) 1291, (B) 11 @.ti.

(C) 10 =.#i. (D) 9@ .H.

Dag A a3 2 | BIE D & oIed o fuan &t
TARIAF BARTACIR 7

(A) s (B) dral

(C) ufa (D) T3

g 41| =, (UPSC) &1 foeqa &9 2
(A) FATSeE dfecteh Afdd HRIMIA

(B) I=A ufeeter Aidw iUy

(C) FTsee ufscter Aidd HeX

(D) I ufectsr TIREt hitem

et d fem e R Am R 7

(A) drEas TEA

(B) Ul oIk e

(C) TS e

(D) ged gL

ST Ueh fohTel ®. 60 | =i STl 8, e . 10
ST GATHT BT & | GT% ol Sferd o= & 7
(A) 20% (B) 16.25%

(C) 12% (D) 15%

CIeATST A BATRIZ IETEBY
SAMEAT DU AR R | TIU ST A = 7

(A) A (B) D
(C) B (D) C

ST ST M o ST T T&dT o,
3T e fore |

(A) =fasen (B) &R

(C) fosmrfeen (D) 3Tk

e foret & =it fire formr T e 7
(A) vEdTg (B) <rSan

(C) Uga (D) Y
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10.

11.

12.

13.

14.

15.

80 _ 7
?7 720
(A) 50 (B) 40
(C) 30 (D) 20

Raju walks 25 m straight towards west,
then turns right and walks 20 m straight,
then turns right and walks 50 m straight,
then turns right and walks straight 20 m
and again turns right and walks straight
for 20 m. How far is he from his starting
point ?
(A) 30m
(C) 5m

(B) 10 m
(D) 15m

The capital city of Chalukya was
(A) Srirangapatna (B) Badami
(C) Madhurai (D) Kanchipuram

In which district is the Gharounda Nagar
situated ?
(A) Karnal (B) Kaithal
(C) Panipat (D) Jind
Security Council of UNO consists of
permanent members.

(B) 4

(D) 6

(A) 3
(€) 5

Who was the first non-congress Chief
Minister of Haryana ?

(A) Chaudhary Bansilal

(B) Rao Virendra Singh

(C) Chaudhary Devilal

(D) Pandit Bhagwat Dayal Sharma

Who is regarded as the pioneer of white
revolution in India ?

(A) Dhiru Bhai Ambani

(B) Varghese Kurian

(C) Swaminathan

(D) S. K. Birla

10.

11.

12.

13.

14.

15.

Field Inspector (Store) (Noon)

80 _ 72
? 20
(A) 50 (B) 40
(C) 30 (D) 20

] ufeem it o Fie 25 Y. Ferar @ fi
Ig qIfet 3T geat EY 20 =, =erar @

fort afert o7 geet 50 =, Ee =eran 2 |
ot 9% aTfet TR 1 &L 20 WY, T Ferar

2 3R O 3TN U o grRf 7R g7 X 20
Ht. =Ietar ® | STRe foeg @ o790 a8 fohat
Wmwe?

(A) 30 . (B) 10 .

(C) 5. (D) 15 .
ATIeR ShT TSTETHT T AT

(A) HRarae (B) wrEmHt

(C) wgwE (D) =HITgTa,
Tvel TR foRg et 7 fea 7

(A) & (B) Huw

(C) uHIud (D) Sfig

J.TA. 3. < geea ufme Tt
T B ¢ |

(A) 3 (B) 4

(C) 5 (D) 6

T o o TR FHRrE] geaH= o o 7
(A) =, SHiATS

(B) T =g fe

(C) =, e

(D) . SWTIq AT IHi

T ! &d Shifd o foIe fordt ST
STar g ?

(A) fors a8 e

(B) afits pham

(C) ZarfuTe=

(D) wH. . forgen
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16.

17.

18.

19.

20.

21.

22,

? % of 150 = 40

™ 55 ®) 45
(C) 26% (D) 3%

The market value of a share of ¥ 100 is
¥ 120. A person invests ¥ 24,000 in
this share. If the dividend declared is
10%, what is his earnings in that year ?
(A) ¥ 2,200 (B) ¥ 2,050
(C) ¥ 2,000 (D) ¥ 1,200

In 1857, which of the following Nawab
of Farukh Nagar took on British ?

(A) Muhammad Tughlaq

(B) Balban

(C) Gyasuddin

(D) Dalel Khan

Raja Ravi Varma was a

(A) Painter (B) Musician
(C) Dancer (D) None of these
If log 8 =0.9031, log 8000 = ?

(A) 1.9031 (B) 3.9031

(C) 1.90831 (D) 0.9031

A basket contains different coloured
flowers. Colour of all but 6 is rose, colour
of all but 6 is red, colour of all but 6 is
white. What is the total number of
flowers in the basket ?

(A) 6 (B) 12

(C) 18 (D) 9

Who is the first state poet of Haryana ?
(A) Udaybhanu Hans

(B) Tulsidas Sharma

(C) Leeladhar

(D) Balmukund Gupt

16.

17.

18.

19.

20.

21.

22,

150 kT 7% = 40

A 55 B) 45

2 3
(C) 26% @) 33

¥ 100 % IR 6T A 4o T 120 2 |
Tk SATeHt 3 IR H ¥ 24,000 Few
FAT 2 | AL 10% T AT =i fepam
ST R, 1 38 A1 3Heh! TS feha1 BT 7
(A) T 2,200 (B) T 2,050

(C) T 2,000 (D) ¥ 1,200
1857 § H&ETR & ford dame 3 USH §
TFRL AT ?

(A) HIEHE TeTh

(B) weTsH

(C) ™=mHE=

(D) T WH

SSIRCECE 9 |

NREEEIN (B) wftashr

(C) (D) = @ *1S 7
Ife log 8 = 0.9031 2, @l log 8000 = ?
(A) 1.9031 (B) 3.9031

(C) 1.9031 (D) 0.9031

ush 2Rt 7 fafi= T % o | B8 F Bl
Tt TSt TT < €, BT I BIS Tt AT T
% 2, B I BT gt 1 W g%he B | 39

2Rt B ot foha g & 7

(A) 6 (B) 12
(C) 18 (D) 9

EITOM & Yo Ul hfd hia 8 7
(A) SeawTg &\

(B) gorefer st

(C) wIemer

(D) smaq%H—< T
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23.

24.

25.

26.

27.

28.

29.

is regarded as the architect
of the Indian Constitution.
(A) Jawaharlal Nehru
(B) Bal Gangadhar Tilak
(C) B. R. Ambedkar
(D) C. Rajagopalachari

Which canal of Haryana is originates from
place called Tajewala ?

(A) Gurgaon canal

(B) Bhakhra canal

(C) Western Yamuna canal

(D) Bhiwani canal

FAVOUR : GBWPVS : : INFORM : ?
(A) JKLMNO (B) JOGPSN
(C) JGOPNS (D) JPOGSN

How many shares of Rs. 100 sold at a
discount of 15% can be purchased by
investing Rs. 7,225 ?

(A) 75 (B) 85

(C) 95 (D) 115

Find the missing item in the following
series from the alternatives provided.

4,7,11,18,29,47,7,123,199

(A) 87 (B) 71

(C) 76 (D) 82
Metro first reached in which city of
Haryana ?

(A) Gurgaon (B) Sonipat
(C) Faridabad (D) Rohtak

In a certain code language, ‘1, 2, 3
means ‘bright little boy’, ‘1, 4, 5> means
‘tall big boy’ and ‘6, 3, 77 means
‘beautiful little flower’. Which numerical
in that language means ‘bright’ ?

(A) 7 (B) 2

(C) 6 (D) 5

23.

24,

25.

26.

27.

28.

29.

Field Inspector (Store) (Noon)

%! I o HITHH T TRGHR
AT T 2 |
(A) ST H8%
(B) et TR etk
(C) . 3. TEEH
(D) ®. TATITATET

ATSIETEAT THeh T ¥ FIT0N sl shiv H &t
IEEINIRIER

(A) Q@TIEI:!%T

(B) WRGST TeX

(C) ufgart agT 7R

(D) fiamt =t

FAVOUR : GBWPVS : : INFORM : ?

(A) JKLMNO (B) JOGPSN
(C) JGOPNS (D) JPOGSN

15% & W o FH a1t & 100 & ferae
IRR &, 7,225 o o @lie S Hehd B 7
(A) 75 (B) 85

(C) 95 (D) 115

= e ¥, f T fowedt # & AT
AT 9T 1T |
4,7,11,18,29,47,7,123, 199

(A) 87 (B) 71

(C) 76 (D) 82

Fhemon < forg wTet § 81 Ted e ug ¢
(A) T (B) @iiud

(C) wifamma (D) Teae

foreft fifeera e w1 # “1, 2, 37 1 Haww
? ‘gT3e forea @19, 1, 4, 5’ 1 Adoe §
‘et fomm @’ 3R ‘6, 3, 7’ T HAAS B
‘P fofed Farer | 39 A1 H §1Ee *
e e g ?
(A) 7

(C) 6

(B) 2
(D) 5
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30.

31.

32.

33.

34.

35.

36.

Kurukshetra’s Sthaneshwar temple was
rebuilt by whom ?

(A) By Raja Harshawardhan

(B) By Maratha Sadashiv Rao

(C) By Prabhakar Wardhan

(D) By Chandragupt Vikramaditya

- 68, 44

Find the HCF of 713 and 51"

12 24
(A) o5 B) <

2 3
©) o3 D) 3
PRINCE : ECNIRP : : ACTIVE : ?
(A) EVITAC (B) EVITCA
(C) VEITCA (D) EVTICA
How many %’s are there in 37% ?
(A) 300 (B) 400
(C) 500 (D) None of these

Kothli gift is given on which of the
following occasion ?

(A) Diwali

(B) Holi

(C) Makar Sankranti

(D) Teej

The ratio of the surface areas of 2 spheres
is 4 : 9. Find the ratio of their diameters.

(A) 5:6 (B) 2:3
(C) 1:8 (D) 1:2
18 22 17

5 15 12

13 7 ?

(A) 5 (B) 6
C) 7 (D) 8

30.

31.

32.

33.

34.

35.

36.

eI oh LAY HiaL T Y- 1oT freferfad
T @ fopdeh S0 w7

(A) TS g¥aeH g/

(B) TRIST WEIRE TS FRT

(C) TRt 9 g

(D) == fashATiecd S

6 8 4
>3 R Ity 51 T T HI.TF. TdT shIST |

12 24
(A) 2 B) %

2 3
© 2 ©) 3
PRINCE : ECNIRP : : ACTIVE : ?
(A) EVITAC (B) EVITCA
(C) VEITCA (D) EVTICA

1 =~ 15
371 i L 87

(A) 300 (B) 400

(C) 500 (D) ¥4 © IS
HIUe 3TER fohe 3TaEt W fean ST 7

(A) Saret

(B) ®reft

(C) TR Hehll=t

(D) =

31 TNl o JS3-&1That 1 31U 4 : 9 |
3ok SATET T STTATA TaT HIFT |

(A) 5:6 (B) 2:3

(C) 1:83 (D) 1:2

18 22 17

5 15 12

13 7 7

(A) 5 (B) 6

C) 7 (D) 8
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37.

38.

39.

40.

41.

42.

43.

Sihi village is considered as the birth
place of which poet saint ?

(A) Saint Ravidas (B) Saint Haridas
(C) Saint Surdas (D) Saint Tulsidas

Find the median of 7, 8, 4, 3 and 10.
(A) 4 (B) 3
(C) 3.5 (D) 7

In Haryana, King Janmejay is associated
with which of the following city ?

(A) Jajjar (B) Safeedo

(C) Jind (D) Jagadhari
The base of a triangle is 3 cm more than
its height. If the area of this triangle is 20
sg.cm., find its base.
(A) 5cm

(C) 10cm

(B) 8cm
(D) 6cm

Vikas starts walking straight towards
East. After walking 75 metres he turns
to the left and walks 25 metres straight.
Again he turns to the left, walks a distance
of 40 metres straight, again he turns to
the left and walks a distance of 25
metres. How far is he from the starting
point ?

(A) 140m
(C) 115 m

(B) 50 m
(D) 35m

The First Battle of Panipat was fought
between the forces of

(A) Akbar and Hemu

(B) Abdali and the Marathas

(C) Humayun and Sher Shah Suri
(D) Babur and Ibrahim Lodi

Maharaja Agrasen is associated with
which place ?
(A) Rohtak
(C) Agroha

(B) Sirsa
(D) Pehwa

37.

38.

39.

40.

41.

42.

43.

Field Inspector (Store) (Noon)

ot e i fopa wea-pfa 1 S o
ST @ 7

(A) T o™ (B) &= ®iE™
(C) O =™ (D) &= qotEie™
7, 8, 4, 3 3T 10 <1 Arfeert gat shifsru |
(A) 4 (B) 3

(C) 35 (D) 7

BRI | TS ST o T R TR AR 7
(A) TS (B) whrEt

(C) Sffe (D) sFTEd

ek T3IeRI0T a1 dcd 3Gk Sars 9 3 9.1,

aferen B | 9 38 Brenior 1 e
20 o @Y. B, Y 35eh! da T Brm 7

(A) 5.1, (B) 8.4,
(C) 10@.H. (D) 6T.H.
forenmar el d faem Y ST =IetT TR htdt

21 75 Hiet 9w & 918 98 TR SR geR
el 25 tiet Trere & | o a7 aRff 3R gea
e 40 Hiet =ear & | ot a8 ot 3T’ gt
25 Hiel Il ? | 31 98 IR fog @

foRat g w g ?

(A) 140 . (B) 50 .

(C) 1154l (D) 35 =i,

T <l deell TS e BIST o s g3
(A) ITReT IR &Y

(B) TscTelt 3T AT

(C) g™ I I wme gl
(D) dTeR 2R TR It

HERISTT S hl Gy fohl TR A ® 7
(A) Tgd® (B) fomam
(C) smmrat (D) g
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44.

45.

46.

47.

48.

49.

50.

1.5

If 2—882)(1—_5,find X.

(A) 12 (B) 18

(C) 15 (D) 13

If <’ means ‘+’, " means ‘+’ and ‘+
means ‘x’;5+4—-18 x 3="7

(A) -34 (B) 6

(C) 14 (D) 26

Which of the following battle was fought

between Marathas and Ahmed Shah
Abdali in Haryana ?

(A) Second battle of Panipat

(B) Third battle of Panipat

(C) First battle of Panipat

(D) None of the above

Mudumalai Wildlife Sanctuary is located
in the state of

(A) Kerala

(B) Karnataka

(C) Tamil Nadu

(D) Andhra Pradesh

National Milk Production Research
Institute is located in which of the
following city ?

(A) Panipat (B) Yamunanagar
(C) Karnal (D) Faridabad

Face value of each share isX 25. ltis
sold at a premium of ¥ 3. How many of
these shares can be purchased by
investing ¥ 5,600 ?
(A) 224

(C) 240

(B) 1533.3

(D) 200

Ajit was born 5 years before Rajesh,
Rajesh is 3 years younger to Aneesh.
If Ajit is now 17 years old, how old is
Aneesh ?
(A) 12years
(C) 19years

(B) 15 years
(D) 8years

44.

45.

46.

47.

48.

49.

50.

1.5

6
aﬁ;—Bs:F%,ﬁxwu@%
(A) 12 (B) 18
(C) 15 (D) 13

I ‘% o T+ B, — I HAAS + & A
‘4 HHAAT ‘X' T, A5 +4—-18x 3="7
(A) -34 (B) 6

(C) 14 (D) 26

TST qAT TEHEINE ATl o s SO
H ST I ST T o7 7

(A) T 1 T8 I

(B) uriua =1 €90 Ig

(C) UHIUd 1 Y&ell J&

(D) 3uled § ¥ IS A

T 5T H UgHATS STt g7 o e ®
(A) FA
(B) e

(C) afurerTg
(D) ITFYTRT

TSR T 3G ITE-oH T fohd T |
feme ?

(A) wrfraq (B) IR

(C) =A™ (D) wieree

T IR HI J@ Ged T 253138 T 3
o Sifeem | = a8 | ¥ 5,600 o Mo
T Uy foha IRR @l 1 TR & 7

(A) 224 (B) 1533.3

(C) 240 (D) 200

ARSI o1 ST TSIST & SFH O 919 91T 98
T, AT & Torw o a1 e 7 | Afe
TSI Y IdAH IHT 17 91 7, 1 ST
FIIWF ?
(A) 12 Tt
(C) 1949

(B) 15 @&
(D) 8d
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51.

52.

53.

54.

55.

56.

57.

Haryana’s first university was established
in which city ?

(A) Kurukshetra

(B) Karnal

(C) Rohtak

(D) Murthal

In A ABC, PQ is drawn parallel to BC.

AP=5PB=3 AQ=3x-1,QC=x+1,
find x.

(A) 4 (B) 3

€) 2 (D) 1

The world famous Ajanta caves are
situated in the State of

(A) Madhya Pradesh

(B) Maharashtra

(C) Karanataka

(D) Orissa

In which city Kanod'’s fort is situated ?
(A) Narnaul (B) Mahendragarh
(C) Thanesar (D) Hansi

‘Dead Sea’ is located in
(A) Philippines (B) Israel
(C) Lebanon (D) Holland

Who was the first Chief Minister of
Haryana ?

(A) Rao Virendra Singh

(B) Chaudhary Devilal

(C) Chaudhary Bhajanlal

(D) Bhagwat Dayal Sharma

Which is the capital of Odisha ?
(A) Bhubaneswar (B) Puri
(C) Ranchi (D) Vijayawada

51.

52.

53.

54.

55.

56.

57.
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giemon | v favafemmer fha e d wenfua
g ¢

(A) poe

(B) A

(C) Tea=

(D) wuw

ABC &1 5, PQ % BC @ @HT=R Ra=n
ST e |

AP=5 PB=3,AQ=3x-1,QC=x+1,
Al X T Yo Ul IR |

(A) 4 (B) 3

(C) 2 (D) 1

39 T3 H T wig, S1idn Ter fed 2 |
(A) HEIITT

(B) wWeTeg

(C) ek

(D) affssm

IS 1 fohett forg TR A foo@ 2 7

(A) T (B) we=Tg

(C) wm® (D) e

(A) Tofafea (B) T9e

(C) <& (D) =fere

TR & Yo Eaw=l i &

(A) Ta faz fag

(B) =i. <fieTer

AT 1 T e R ?
(A) IR (B) ¥
(C) T=h (D) fsmraTer
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58.

59.

60.

61.

62.

63.

64.

65.

First Governor General of India, after
independence was

(A) Jawaharlal Nehru

(B) Rajendra Prasad

(C) Climent Atlee

(D) Lord Mountbatten

Sultanpur Bird Sanctuary is located in

which district of Haryana ?
(A) Gurgaon (B) Rohtak
(C) Panchkula (D) Faridabad

Natyashastra, in which all performing
arts are well structured is a work of

(A) Bhavabhooti (B) Bhasa

(C) Bharatamuni (D) Kalidasa

Which disease has been eliminated
from the world by vaccination ?

(A) Typhoid (B) Malaria
(C) Small pox (D) TB

Which of the following sage’s monastery
is situated in Asthal Bohar ?

(A) Kapil (B) Chyawan

(C) Ved Vyas (D) Mastnath
December 22, the day on which genius
Srinivas Ramanujan was born would be
celebrated as

(A) National Members Day

(B) National Mathematics Day

(C) Numerical Mathematics Day

(D) National Science Day

Acid found in lemon is

(A) Citric acid (B) Acetic acid
(C) Tartaricacid (D) Nitric acid

Most of the part of Haryana is
(A) Desert (B) Plain
(C) Hilly (D) Fenland

58.

59.

60.

61.

62.

63.

64.

65.

TN o o1 W o U8 oL S o
(A) STETEATA 5%

(B) TS5 JETR

(C) =iwue TZe

(D) wTE HISeaeq

oM vaft forer sfemn o forg R 6 8 ?
(A) T (B) Tza

(C) et (D) w{iemETe

‘Treeme’ forew gt s1fiea swerst &
3= e O wifua foman 2, suehl = R

(A) wefa (B) W

(C) eyt (D) ehrfcrard
SRR o FT i I fava @ & @
Mg ?

(A) <TEBIsS (B) weifwn

(C) === (D) 2.

I et 1 g B w1 A3 B 7

(A) whiuet (B) ==

(C) 35 =™ (D) wEaTTA

e 22, fom feq wfgummedt shfam
THTISH 1 SFH g1 o1, I8 T 39 TR
T ST |

(A) T wee foaw

(B) g i femw

(C) wfeass Tt fead

(D) T o feaw

i ¥ T ST e 2

(A) Tafgwm ufs  (B) wafess dfe
(C) zieiitr tfis (D) Afee wftre
TR w1 STfreRTST Wi ®

(A) e (B) #ewt

(C) werEt (D) @wied
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66.

67.

68.

69.

70.

71.

72,

73.

74.

Myanmar is the new name of

(A) Mali (B) Bali
(C) Burma (D) Bhutan
Which is not a Rabi crop ?

(A) Wheat (B) Maize
(C) Gram (D) Mustard

‘Hari Bhoomi’ newspaper is published
in which city of Haryana ?

(A) Rohtak (B) Hissar

(C) Panipat (D) Fatehabad

International Worker’s Day is celebrated on
(A) April 14 (B) May 1
(C) August 1 (D) May 10

Enzymes are
(A) Carbohydrates (B) Fats
(C) Proteins (D) Vitamins

Chudani Dham is associated with
which of the following great soul ?
(A) Swami Nityananda

(B) Saint Haridas

(C) Saint Ravidas

(D) Saint Gareebdas

State of Goa has districts.
(A) 2 (B) 3
(C) 4 (D) 5

Which Vitamin is synthesized when
skin is exposed to sunlight ?

(A) Vit. A (B) Vit. Bg

(C) Vit.C (D) Vit.D

Which of the following national route
is not passes through Haryana ?

(A) NH5

(B) NH 2

(C) NH 1

(D) NH 10
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67.

68.

69.

70.

71.

72,

73.

74.
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TIHR 38T 491 919 ©

(A) @t (B) et
(C) =i (D) M
3 G T W HEA T B 7
(A) T (B) WS
(C) = (D) =

g § ‘7t gy’ THem w fRe TR g
e g ?

(A) Tgas® (B) feaw

(C) uriua (D) dETETE
AW HIgY faad T STt 8
(A) T 14 (B) =g 1

(C) 31T 1 (D) =s 10
TSTEH °

(A) wreersge (B) =&

(C) W= (D) fafim
FSH! U 1 T o AR A ® 7
(A) @t o=

(B) §d sfem

(C) wa e

(D) @@ TeaE™

e T | et 21

(A) 2 (B) 3

C) 4 (D) 5

i fafim geafva gar & Se gaRl o=
TGS AT U gt 7 7

(A) fadfm A (B) fadfir By
(C) T C (D) ffm D
FigT T TSWTT g § geRt T8t
ST ¢

(A) . T 5

(B) . TH. 2

(C) T W= 1

(D) . T=. 10
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75.

76.

77.

78.

79.

80.

“Wings of fire” is a book authored by
(A) Atal Bihari Vajpayee

(B) Amit Chaudhary

(C) A.P.J. Abdul Kalam

(D) Girish Karnad

‘Hyper inflation’ in the economy will
lead to

(A) Easy loans

(B) Increased production of goods
(C) Fall in value of money

(D) Increased deposits in banks

In which district of Haryana has a
railway workshop ?

(A) Gurgaon

(B) Sirsa

(C) Faridabad

(D) Yamuna Nagar

Kathakali is a dance form of
(A) Karnataka

(B) Kerala

(C) Tamil Nadu

(D) Andhra Pradesh

‘Birju Maharaj’ is a famous exponent of
(A) Kathak dance

(B) Sitar

(C) Tabla

(D) Sarangi

Owner of the company that makes Reva
electric car is

(A) Tata Motors

(B) Suzuki

(C) Mahindra and Mahindra

(D) TVS
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75.

76.

77.

78.

79.

80.

TS TR BRIk o i@ ©
(A) 31ea forerdt areroRht

(B) Afha =terd

(C) u. ut. . 31egA HeATH

(D) it wfe

seferaeen  ATHIEAI (STsTEeiv )
T i BT

(A) 3T R

(B) =¥l % IcuTeH ° g

(C) ge1 Y dhiwa ® fivrae

(D) Seni W ST H gfg

gimon & fore et o Ia w1 gehema 2 7
(A) T

(B) fercan

(C) wiarere

(D) IHATTR

FHUheA! 38 TSI HT JoI TR B

(A) AT

(B) s

(C) dffrerrg

(D) ALY

AEIEEHUEE % Th gitg
gferares & |

(A) ¥k T

(B) feram

(C) detem

(D) @t

o s R ST HEo BT 1 2
(A) 2T A"

(B) gl

(C) wfe= us ufz=n

(D) fe.fa.wa.
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English Language

Directions (Qs. 81-84) : Read the passage
given below and based on this, answer these
questions that follow :

It is no doubt true that we cannot go through
life without sorrow. There can be no sunshine
without shade. We must not complain that
roses have thorns, but rather be grateful that
thorns bear flowers. Our existence here is so
complex that we must expect much sorrow and
suffering. Many people distress and torment
themselves about mystery of existence. But
although a good man may at times be angry
with the world, it is certain that no man was
ever discontented who did his duty in it. The
world is like a looking glass. If you smile, it
smiles, if you frown, it frowns back. Always try
then to look at the bright side of things. Life has
been a comedy to those who think and a
tragedy to those who feel. Itis indeed a tragedy
at times and comedy very often, but as a rule, it
is what we choose to make it.

81. We should expect much sorrow and
suffering in life, because
(A) Every rose has a thorn
(B) We think too much
(C) Our life is so complex
(D) Ourown actions are responsible for
them

82. What do people distress and torment

about ?

(A) Life consists of both joys and
SOrrows

(B) The world is like a mirror

(C) Life is a tragedy at times

(D) Secrets of life unknown to man

What sort of man is never dissatisfied ?

(A) Who does his duty in the world

(B) Who never gets angry with the
world

(C) Who only looks at the bright side of

(D)

83.

things
Who has no complaint about roses
having thorns

Field Inspector (Store) (Noon)

84. According to the writer, life is indeed
(A) A comedy
(B) Atragedy
(C) A mystery
(D) What we make of it

85. “The world is like a looking glass.”
The figure of speech found in this
above sentence is
(A) Metaphor (B) Simile
(C) Hyperbole (D) None of these

86. Choose the opposite of the word
‘denial’.

(A) Acceptance (B) Disliking
(C) Refusal (D) Available

Directions (Qs. 87-88) : In each of the
sentences given in these questions, some
sentences have errors and some have none.
Find out which part (A) or (B) or (C) of the
sentence has an error. If there is no error your
answer is (D).

87. I shall go to Australia (A)/for higher
studies (B)/if you like it or not (C)/No
error (D).

88. They refused (A)/staying in that hotel

(B)/as it was too crowded (C)/ No error
(D).

Directions (Qs. 89-90) : Fill in the blanks with
the most appropriate alternative :

89. Since Robertis photographer,
he did not charge us any money for
taking our photograph.

(A) A professional
(B) An unknown
(C) An amateur
(D) A qualified

90. You are ready to go, ?
(A) Isn'tit (B) Aren't you
(C) Areyou (D) Isit

-13-
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91-92 : = f&3 T wreet o1 foremy feafaw |

o1.

92.

93-94 : = {3 T weai w1 dcEH ee feifigd :
93.

94.

95.

ECERI

(A) FoT=T
(B) frew=T
(C) T
(D) 7=

SRR

(A) =R
(B) WEEIR
(C) F=m

(D) =R

qrd

(A) @t
(B) #me
(C) ww
(D) @re
Hig

(A) T=n
(B) Tz

(C) fi=

(D)

7o' o T Fed &
(A) Trd S 3men

(B) @R ®ma

(C) @R drd

(D) @ @Y

96.

97.

98.

99.

100.

-14-

‘a1’ Teq T WSaTe T FY
(A) frem

(B) fiare

(C)

(D) w3

fortT ™ 318q @t g faafad |
(A) T

(B) ==

(C) =4

(D) wma

T’ w1 foegrdss e fafad |
(A) g

(B) @t

(C) fi=

(D) 3¥HA

‘S0 U AT T3 T ]
(A) gE

(B) <

(C) s

(D) s

T8 Tl 1R fomrd w1 wres ®
(A) ereaTaR

(B) ST

(C) AUk

(D) TEITIHT
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SPACE FOR ROUGH WORK

T & o oTu T
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The median of 7, 12, 15, 11, 6, 20, 8, 4 and
10 is

(A) 11 (B) 10

(C) 12 (D) 8

a+b=9a’+b?’=41;ab=20,a>+b*>=?
(A) 198 (B) 189
(C) 169 (D) None of these

‘Ceteries Paribus’ clause in the law of
demand does not mean

(A) The price of the commodity does not
change

(B) The price of its substitutes does not
change

(C) The income of the consumer does not
change

(D) The price of complementary goods
does not change

SEBI was established in
(A) 1993 (B) 1992
(C) 1988 (D) 1990

Which one of the following resources can be
re-cycled ?

(A) Petroleum
(B) Coal

(C) Iron

(D) None of these

Which one of the following, is a Non-UN
member ?

(A) Malta
(C) Palestine

(B) Greece

(D) Dominica

The first Railway train in India ran in 1853
from Bombay to
(A) Thane
(C) Nagpur

(B) Poona
(D) Ahmedabad

7.12,15, 11, 6, 20, 8, 4 37T 10 hl HITEIGHT 2

(A) 11 (B) 10
(C) 12 (D) 8

a+b=9 a’+b?=41ab =20 %,
a’+bp’=?
(A) 198
(C) 169

(B) 189

(D) 378 & =1E
‘Ceteries Paribus’ aqfd = i 3 &1
Has I A8 el

(A) TEq T T TE Fgera

(B) 3k TIhcd Tl W el Saerdl

(C) TITe i 3T T Taereht

(D) ST Gl hl S &l Saeid

TwEsiiaé (SEBI) <l €T 56 OTet g8
(A) 1993 (B) 1992

(C) 1988 (D) 1990
=1 % @ e ia [Efes R 7

(A) Tgiferam

(B) wiFaT

(C) e

(D) 3 @ s e

7 8 i QT T Tsg-Ta6d 18l 87

(A) HII (B) I

(C) U (D) eifufer

qRA | Ugeft 37 1853 H otaTg § I&T dh dcit
(A) om (B) I

(C) AT (D) STEHEETE



Directions (Qs. 8 to 10) : PQRSTU are sitting in a

10.

11.

12.

13.

14.

15.

closed circle facing the centre. T is to the left
of S. R is between P and Q. U is between T
and P.

Who is to the left of Q ?

(A) S (B) R

€ T (D) P

Who is to the right of R ?

(A) Q (B) S

€ P D) T

Who is sitting diametrically opposite to S ?
(A) Q (B) P

(C) R D) T

Which artist of Meerut is believed to
started the Saang of Haryana ?

(A) Mangeram (B) Ali Baksh

(C) Kishanlal Bhatt (D) Deep Chand

Which district of Haryana has the least
rate of women’s literacy ?

(A) Mewat (B) Rewari

(C) Mahendragarh(D) Bhivani

From which Acharya did Sant Surdas
learn music ?

(A) Sant Raidas (B) Baiju Bawra

(C) Sant Haridas (D) Sant Kabir

In  which district Nahar Wildlife
Sanctuary is situated ?

(A) Rewari

(B) Palwal

(C) Mahendragarh

(D) Mewat

An article is sold at a loss of 10%. If the
same article is sold for ¥ 30 more, there
would have been a profit of 5%. Find its cost
price.

(A) X150

(C) %200

(B) %105
(D) %250

10.

11.

12.

13.

14.

15.

Field Inspector (Store)

et (9. 8 910): PQRSTU 3% 7% 31 IR @
B GUITHER 93§ | T I8 S Al aRff 31X 2 | RTT P
ARQFTAIINRTIUTRT IRPF AT T |

8.

Q & 9 SRR ?

(A) S (B) R
C) T (D) P
R & Tifel ST ?

(A) Q (B) S
(C) P D) T
S % =T yfeg@ HF ST R 7
(A) Q (B) P
(C) R D) T

TN & O W Y WS o fRd
FHATHI B AT ST & ?

(A) AT CEESIEE:

(C) TervreTea w2 (D) du==

g & forg S § afear-aerar =

I ?
(A) HaTd (B) W@E!
(C) U5 (D) ferart

d gEw 4 @i i e forw o= 9
2

(A) I & (B) SIS a0

(C) agie™ (D) Ud el

T IS Aoy forg el | fea 2 2
(A) Yot (B) ueidA

(C) TR=5TTe (D) HaTd

T S Hl 10% 1 H =1 A1m © | At e
TEG T 30 AfYH ¥ =i STt dql, 5% 1 TATH
B Hehll U1 | IHeh! AT hiFd Ul HITWT |
(A) T 150 (B) %105

(C) %200 (D) ¥ 250
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16.

17.

18.

19.

20.

21.

22.

The average weight of 40 students of a class
is 48 Kg. After a new students admission,
their average weight becomes 48.1 Kg. Find
the weight of the new student

(A) 48.1Kg (B) 48.2 Kg
(C) 52Kg (D) 52.1 Kg
The H.C.F. of (ab — b?) and (a® — b?) is
(A) (a-b) (B) (a+Db)

(C) ab (D) a(a-b)

The ‘Golden Age’ model was developed by
(A) Nicholas Kaldor (B) Joan Robinson
(C) J.R.Hicks (D) R.F.Harrod

Neighbour’s curse means

(A) Depression of country is transferred
to other

Boom of one country is transferred to
other

Both (A) and (B)
None of the above

(B)

(C)
(D)

Who is the editor of the weekly
magazine ‘Haryana Tilak’ ?

(A) Nekiram Sharma

(B) Baldev Singh

(C) Shriram Sharma

(D) Sir Choturam

Which one of the following waves has the
highest frequency ?

(A) Ultraviolet rays (B) Infrared rays
(C) Gammarays (D) X-rays

Choose the one which does not belong to
the group of other three.

(A) Violin (B) Guitar
(C) Tabla (D) Veena

16.

17.

18.

19.

20.

21.

22.

Teh hefT o 40 feenfeia o1 ofrea s
48 foh. 7M. ® | T& U, fomnfyf o vt @ 9%
37Td 319 48.1 o, 0. B AT B | ¢ ferenfed o

EEER NS
(A) 48.1T%. .
(C) 52f&. mm.

(B) 48.2T. .
(D) 52.1 . m.
(ab — b?) 3T (a2 - b?) 1 T=. &Y. TF. B

(A) (a-b) (B) (a+b)
(C) ab (D) a(a-—Db)

‘ GARU T HiSH U T TR
(A) Fepierd shrefet  (B) ST Wfered
(C) 3. . fevm (D) IR, TH. &

TEIE 1 TG 1 Heelsl &

(A) 9T T TER T H TAFTANT AT
(B) I it gER 391 A THIaRd T
(C) (A) 3 (B)aHI

(D) Zudt g L

‘gfemn facaes’ g afSerr & @wes

T g ?

(A) JhRm I

(B) sieted T

(C) i vt

(D) W B

1 4 @ 8 i o) ST STt Bt § 7
(A) TeTH fRr (B)  3FerRad TR

(C) T feReon (D) wag fehtor

STeh! AT o YT § ST ol = hITSIT |

(A) TEfH (B) Tfex

(C) we (D) =from



23.

24,

25.

26.

27.

28.

On which canal is the Kakroi Micro
Hydal Project built ?

(A) Bhiwani Canal

(B) Gurgaon Canal

(C) Bhakra Canal

(D) Western Yamuna Canal

The immortal National Song Vande Mataram
has been written by

(A) Rabindranatha Tagore

(B) Sarojini Naidu

(C) Bankim Chandra Chattopadhyay
(D) Sarat Chandra Chattopadhyaya

Which of the following terms is used in the
game of Cricket ?

(A) Leg-bye
(C) Deuce

(B) Smash
(D) Love

What is the sum of the first 49 natural
numbers ?

(A) 1225 (B) 1325

(C) 1125 (D) 1250

‘O’ is the circumcentre of the AABC.
If BOC = 130°, find BAC.

(A) 50° (B) 55°

(C) 60° (D) 65°

Which of these conditions leads to
cyclogenesis ?

(A) Upper level divergence being equal to

lower level convergence

(B)

lower level convergence

Upper level divergence being greater
than lower level convergence

Upper level divergence being constant

(©)

(D)

Upper level divergence being weak than

23.

24,

25.

26.

27.

28.
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Fhls G&H S faga qiEsHT fohg T8t W
T ?

(A) Tramt 7=t

(B) TeTa &

(C) wrEeT =&t

(D) ufgerm THAT TR

IR U T aee ATy o TRt 9
(A) Taesamy TR

(B) wIfSH TSY>

(C) wiferu =g TrgraTeaTS

(D) TG =I5 AT

fhehe & W ® I 0 @ =98 g &1 3w
grarg ?

(A) wT-aTs (B) @i

(C) =™ (D) <=

A 49 TThd T T SIS T BT 7

(A) 1225 (B) 1325

(C) 1125 (D) 1250

AABC @1 ‘O’ 98 uftehs 2 | afd [BOC =130°
2, @ [BAC Tat shifST |

(A) 50° (B) 55°

(C) 60° (D) 65°

=1 1 @ s affearta aeasHieg 6 31t
AR ?

(A) T TR FH AT AR TR F
FTRTETT & ST BT 8

(B) Il T o UM R TR &
BT & FHASI BT &

(C) Ut TR kT (uEul @R T’ &
iR § erfires gran 2

(D) STRI T T LT fOR & 2
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29.

30.

31.

32.

Choose all of the following that are not true

I. The Koppen climate classification
system is based on both the
temperature and annual amount of
precipitation of a region.

II. A city that is classified as having a
humid continental climate under the
Koppen classification system would
possibly have a Thornthwaite index

of-20.

lll. The Thornthwaite system of climate
classification is not directly based on

temperature
(A) lonly (B) Il only
(C) Nl only (D) Nand Il only

India’s First Nuclear Plant to generate
1000 MW of power is

(A) Kalpakkam, Tamil Nadu

(B) Narota, Uttar Pradesh

(C) Tarapur, Maharashtra

(D) Kundankulam, Tamil Nadu

Which religion has the maximum
followers in Haryana ?

(A) Hindu (B) Muslim

(C) Buddhist (D) Jews

On which Guru’'s advice did Banda
Bahadur renounce sanyas and fight
war ?

(A) Guru Teg Bahadur

(B) Guru Arjundev

(C) Guru Govind Singh

(D) Guru Nanak Dev

29.

30.

31.

32.

ST &= T2, 37 Tkl FHT.

| U Sy SRl UEhd, I8 aTaHH
3R & & ATk gfeeura i w59 =t
T I © |

. oA Fffer ugfa # 9k Tt T A
SIaT TS HeTEdt ek it TS 7,
TR 3EehT YT Yashih—20 B |

. Sieary affwtr it areee wgia €@y
ATIHT O ST T 2 |

(A) Fad | (B) ohae I

(C) = Il (D) ket Il 3T I

1000 MW S1fed IS o 1Tl SR o
e ICHTY] Wi T § 2

(A) FITRH, THATG

(B) TI2T, 3T T

(C) gL, HERISE

(D) Fraigem™, qfterTg

i | frm o 1 ArRa A ged
AT 3 ?
(A) Teg
(C) g

941 FEIGL A fohE T % FE W T
BIgH I fohT 2

(A) T8 a7 SRTgL

(B) T ST

(C) & Miere fire

(D) T& T <



Directions : (Qs. 33 to 35) : Select the one which is

33.

34.

35.

36.

37.

38.

39.

40.

41.

different from the other three responses.

(A) 256 (B) 36
(C) 1000 (D) 196
(A) Profit-Gain
B) Debit-Credit

Assets-Liabilities

(B)
(C)
(D)

D) Income-Expenditure
(A) Copper (B) Mercury
(C) Steel (D) Brass

In  which district of Haryana does
Ghaggar river not flow ?

(A) Kaithal (B) Bhiwani

(C) Fatehabad (D) Sirsa

The amount of heat required to raise the
temperature of 1 C.C. of water through 1°C
is known as

(A) One centigrade
(B) One watt

(C) One ampere
(D) One calorie

The original inhabitants of India were

(A) Sikhs (B) Mughals

(C) Dravidians (D) Christians

Which state is called the “Cradle of
Buddhism” ?

(A) Sikkim (B) Bihar

(C) U.P. (D) M.P.

The Scheme of financial help to children
of Prisoners is approved by

Government.
(A) Haryana (B) Kerala
(C) Delhi (D) Gujarat

If "C, = "Cy, find n'.

Field Inspector (Store)

fdwr (7. 33 9 35) : W T ST H AT W H

33.

34.

35.

36.

37.

38.

39.

40.

= e |

(A) 256 (B) 36

(C) 1000 (D) 196

(A) gAT®ET-Ifed  (B) H-SHT

(C) wwfi-3a (D) IHeHA-T=t
(A) T (B) umt

(C) &t (D) diaa

TR 9} giEmn & forg e 8§ 1= sigd) 2
(A) FIA (B) farart

(C) HdgTETE (D) e

1 C.C. UMl &l dHF 1°C e & g o

Tl ST ol shad ©

(A) T HfUe (B) THd

(C) Th TR (D) T kel
WA o o et &

(A) T (B) g

(C) sfars (D) 318

FIY TT I g UH 1 I F8d 8 7
(A) Tafesm (B) ferem

(C) 4.4 (D) TH.4.
SIAATRET % sredt i i TRt % o
fore TXenr A AT SR R 2

(A) Bfmom

(B) A

(C) Teeett

(D) TAId
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42.

43.

44.

45,

46.

47.

(A) n=2
(C) n=6

(B) n=5
(D) n=7

30 workers, by working 8 hours a day require
12 days to complete a piece of work. How
many days do 24 workers take by working 6
hours a day to complete the same piece of
work ?

(A) 20
(C) 21

(B) 22
(D) 18

A man spends Rs. 8,100 in buying tables
at Rs. 1,200 each and chair at Rs. 300
each. What will be the ratio of chair to tables
when the maximum number of tables is
purchased ?

(A) 1:4 (B) 5:7
C) 1:2 D) 2:1

Who is considered as a successful hero
in Haryanvi movies ?

(A) Devisankar Prabhakar

(B) Anup Singh

(C) Jagat Jakhar

(D) Sunil Dutt

Which of the following climate zones is
typically subject to the greatest diurnal
variation in temperature ?

(A) Humid subtropical
(B) Arctic

(C) Arid

(D) Mediterranean

The
concentration
particles.

(A) Troposphere
(B) Stratosphere
(C) Mesosphere
(D) lonosphere

features a relatively high
of electrically charged

Makar which

month ?

Sankranti comes in
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41.

42.

43.

44,

45.

46.

Ife C, = ”C5%, ane

(A) n=2 (B) n=5
(C) n=6 (D) n=7

30 ASGY Wi T 8 =T i | Tk & 12 ot
T A § | 98 M 24 ISR i & 6 T
T d gY foha TaT | ool i 7

(A) 20 (B) 22

(C) 21 (D) 18

T FEd ufd B % 1,200 R wha g
%. 300 X @il # % 8,100 W T B |
S 98 FehdH G § Ul @ied 9redr , d

U 3 e R At o1 ST < B ?
(A) 1:4 (B) 5:7
(C) 1:2 (D) 2:1

gt fhedi & g% A% 9 "M
ST & ?

(A) TR THTH

(B) ¥y f&e

(C) STd AT

(D) i &

=1 % @ s Sy wiag foriva: aaHeE

& AT ik Tecra & AT AT ?

(A) 318 3ureeft (B) SmydH

(C) T&=h (D) ymex

UFTRG faga w0 w1 39 GohsU TR
i fommar 2 |

(A) &y Hued

(B) HHATY HUSA

(C) HeF-HUSd

(D) ATEAA-WUEA



48.

49.

50.

51.

52.

53.

54.

(A) January
(C) February

(B) December
(D) March

Bhour Saidan in Kurukshetra District is
the breeding centre of which animal ?

(A) Fish (B) Eagle
(C) Horse (D) Crocodile

The main constituent of LPG is
(A) Methane (B) Butane
(C) Ethane (D) None of these

Commercially, sodium bicarbonate is known
as

(A) Washing soda
(B) Baking soda
(C) Bleaching powder
(D) Soda ash

Let a number with three digits has for its
middle digit the sum of the other two digits.
Then it a multiple of

(A) 11
(C) 18

(B) 10
(D) 50

Mangala is taller than Neela but as tall as
Pushpa. Asha is taller than Sapna but not so
tall as Neela. In this group who is the
shortest ?

(A) Mangala
(C) Pushpa

(B) Sapna
(D) Asha

If ‘" means ‘¢, ‘X’ means ‘+’, '+’ means ‘x’
and '+ means ‘-, what is the value of
20-5%x4+3+16="7

(A) 16

(B) 63

(C) 12

(D) O

Sangi and folk singers sang songs on
which musical instrument ?
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47.

48.

49.

50.

51.

52.

53.
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Heh Tgh1id qd ford Afe & 3TaT @ 2
(A) SHE B) feamr

(C) ®LE (D) |

Fears ot 8 ¥R S form Sfia &1 St
FET?

(A) TSt B) firg

(C) 3T%d (D) HRHTS
TSt T THE T el |

(A) o (B) =4

(C) 3o (D) T ¥ g T
Hifeay oS Fraie sl SIS® AH @

(A) SHFEE  (B) Uk |ieT
(C) scfifemursgt (D) @EI @

T A kATl AT H Sfte Tl 37 gE @l

37h1 o SIS o ISR © | A1 I8 g1 U1 &

(A) 11 (B) 10

(C) 18 (D) 50

HITAT, e & el 7, ifohd g1 et & Seht
2| o, o 9 St 2, e Fen e
SR U TR § T AR IR 7

(A) T (B) @uAt

(C) T (D) sm=m

Ife — W HAJAS ® ', X H HAAS § +
+ A § %’ 3R+ H AqeE § ', @
20—-5%x4+3+16H A

(A) 16 (B) 63
(C) 12 (D) 0
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55.

56.

57.

58.

59.

60.

(A) Bainju (B) Sarangi

(C) Flute (D) Harmonium

In Haryana, which district has the
maximum length of paved roads ?

(A) Hisar (B) Kaithal

(C) Bhiwani (D) Panipat

In a class of 50 students, all the students
study Science and Mathematics. In the
examination 40 have passed in science and
34 have passed in Mathematics. Naturally
some have passed in both science and
Maths. How many students have passed in
Science only ?

(A) 24
(C) 10

(B) 16
(D) None of these

43 persons went to a canteen which sells
soup and tea. If 18 persons took soup only, 8
took tea only and 5 took nothing, how many
took soup ?

(A) 12
(C) 20

(B) 30
(D) 38

How many committees of 3 teachers can be
made from 5 teachers ?

(A) 10 (B) 12
(C) 8 (D) 15

Who of the following suggested that Aryans
originally lived in Central Asia ?

(A) Prof. Macdonell
(B) Bradenstein
(C) Max Muller
(D) Sir William Jones

The Battle of Ten Kings was fought on the
bank of

(A) Sutlej (B) Jhelum
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54,

55.

56.

S7.

58.

59.

Tore Tena=it I W G 9 AT Tid
T 8 2

(A) SIS (B) T

(C) I (D) TR

T | gaRhl AR hl HaH SATGT ARITS
IETRS R R

(A) Tear (B) I

() ferarh (D) 9TIa

T 50 foenfelat o aama 9wt foeneff fogm
3T TTfTd T T A B | we | 40 fagm
§ 3TN 34 fora forvr § o gU B | T @
fop o forenfel forqmr STR Tfora T | 913U
9| et fogm & fore forenff v gu & 7

(A) 24 (B) 16
(C) 10 (D) T @ g el

U 3R I s=F aTel T hicd H 43 fdd T
g | 18 ART + shad g4 o=, 8 ART + shad
Il SR 5 AR A FS A8 T fora @
3 qu form 7

(A) 12 (B) 30

(C) 20 (D) 38

5 f3reteht @ 3 frereni <t ferat wfurfeat wht s

Tehdl B 7

(A) 10 (B) 12

(C) 8 (D) 15

=1 & @ forem gema T for stafent goreem
e ufEmE o ?

(A) M. FhEMes  (B) SR

(C) W R (D) & farfererm si@



61.

62.

63.

64.

65.

66.

67.

68.

(C) Sindhu (D) Ravi

The name “Aghnya” (not to be killed)
mentioned in many passages of the Rig
Veda applies to

(A) Priest (B) Women

(C) Cows (D) Brahmanas
Which mineral is found in district
Mahendragarh ?

(A) Lime stone  (B) Copper

(C) China clay (D) All of the above
India’s Space Rocket Launching Centre is in
(A) Kochi (B) Tirupathi

(C) Hassan (D) Sriharikota

Surajkund was built by whom ?
(A) Anangpal - Il (B) Hemchandra
(C) Mahipal (D) Harshwardhan

Which of the following assembly area is
not reserved for Scheduled Caste ?

(A) Baroda (B) Baval

(C) Jhajjar (D) Narnaul

Which one of the following metals is found in
‘plaster of paris’ ?
(A) Calcium

(C) Potassium

(B) Magnesium
(D) Sodium

The names of the four sons of Mahatma
Gandhi are Harilal, Manilal, Ramdas and
(A) Arun (B) Tushar

(C) Rajmohan (D) Devdas

Who was the main leader of the
non-cooperation movement in
Haryana ?

(A) Mahatma Gandhi
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60.

61.

62.

63.

64.

65.

66.

67.
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‘g TS Sl ASTS 39 el o d¢ W AL! TS 7
(A) Hdos (B) Siem
(C) oy (D) wreft

T 98 % Sgd gR UNesal § a1 e’
“Te” (8 AT 2 STa) $9eRt AF] BT ©
(A) wfed (B) i

(C) = (D) sm&or

freT we=sTe | i |1 @St uered urn
TR 2

(A) =T TR (B) qlaT

() =+ fargh (D) SUrera At
I o1 A=ANE Tehe IS g T8 8
(A) i (B) feeufa

(C) B&A (D) sitgfierter
LTS 1 THTT Torereh ST ST T o 2
(A) FATATA Tgd™ (B) B

(C) TfgaTe (D) TYaET
frerforitaa 4 @ s faumas &
g St o foe smfda T2 e 2
(A) ST CEES

(C) TS (D) ATETA

TATES IATE Ui | = # @ e g arn
g ?

(A) wHArEET
(C) urfaem

(B) wnAfeem
(D) difezm

HETeHT el o TR Sel & A §, g,

et THEE 3R
(A) TR (B) g
(C) THIE (D) <ge™
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69.

70.

71.

72.

73.

74.

75.

76.

(B) Rajaram
(C) Lala Lajpat Rai
(D) Surajmal

Which sutra deals with the rules relating to
big sacrifices ?

(A) Dharma sutra
(C) Srauta sutra

(B) Grihya sutra
(D) Sulva sutra

The term sovereignty has been drawn from
the Latin term

(A) Supranus
(C) Soviet

(B) Supreme
(D) Statute

With which of the following was Satyaijit Roy
associated ?

(A) Cricket (B) Classical dance
(C) Direction of films (D) Banking

Calorie is a unit of
(A) Heat
(C) Sound

(B) Light
(D) Pressure

The concept of ‘legal sovereignty’ was for
the first time profounded by

(A) Hobbes (B) Rousseau
(C) Locke (D) T.H. Green

Which of the following district of Haryana
contributed in 1857 revolution ?

(A) Gurgaon

(B) Hisar

(C) Rohtak

(D) All of the above

Which part of Haryana received the
lowest rainfall ?

(A) North East
(C) North West

(B) South East
(D) South West

Third battle of Panipat is associated with
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68.

69.

70.

71.

72.

73.

74.

TGN SN o TH@ =dl ST § i
q 2

(A) TaTeHT TTeft

(B) SR

(C) EATSAT T=TUa T

(D) q&HA

¢ afcieH @ e Fami & aR § e g
Trfeaa g 7

(A) = g (B) TEHS

(C) gagx (D) gea g

Al (TdEmT) I8 eq e Wl & 39
yioc @ o e R

(A) gor=E (B) gitm
(C) wifae (D) ®=qe
forer 7 & Fred g T = 9 7
(A) forke (B) e I

(C) foremi =t fAcem(D) Sifshm

=°b[a BgH$m EH$HS hj
(A) T (B) SR
(C) = (D) <=

AT ST sl Heheud Tt o fohe
T ToRaT 7

(A) wTerst (B)

(C) i (D) &.w=. I

1857 1 It H BfEWOm & form N =1
INTEH T&T 2

(A) TSTTE
(C) Ugdh

B) f&am
(D) Sulera Tt



77.

78.

79.

80.

81.

which of the following place ?
(A) Salarganj Gate (B) Kos Minar
(C) Kabuli Bagh (D) Kala Amb

What is the name of Sports School
located in Rai of Sonipat district ?

(A) Jawaharlal Nehru Sports School

(B) Motilal Nehru Sports School

(C) Rajeev Gandhi Sports School

(D) Indira Gandhi Sports School

Which district of Haryana is irrigated by
Western Yamuna River ?

(A) Rohtak

(B) Karnal

(C) Sonipat

(D) All of the above districts

In India the legal sovereignty lies in
(A) Parliament (B) Supreme Court
(C) President (D) Electorate

In modern times the Force Theory found a
strong advocate in

(A) Lenin
(B) Hitler
(C) Winston Churchill
(D) Mahatma Gandhi

English Lanquage

Plural of “ox” is
(A) Oxes (B) Ox
(C) Oxen (D) Oxus
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75.

76.

77.

78.

79.

80.
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B & forg o & Tl 59 Tl Bt B 2
(A) TR (B) =feror g

(C) SWufzem (D) =feror afgem
g <l Rl TS O T T §

(A) ARSI TIE (B) shid HAR

(C) hTecit s (D) SRTEAT 3TFT

arfird el o T 9% TH W Udga
TRA BT T B 2

(A) STETETATS 8% Tclhe Thdd

(B) HIAIATA H8& ©eAhs Thel

(C) TSt Tl Wetshe bt

(D) sf=T TTTeft Gergs Thet

afyerdl FHAT T8 g i # fore et 4
s I ST B 2

(A) TEdh

(B) SHATA

(C) GHIq

(D) SURrer At et

A | A ATerEm 38eh T 7
(A) THEe (B) S<udH <TG
(C) Treufa (D) MEEIEERI

MYk 97 § I ST o aforss gHedh o
(A) «f= (B) feeer
(C) fome=fda (D) weremm meht
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Direction (82-84) : Identify the error if any in (A),
(B), (C) part of the sentence if there is no error
your answer is (D).

82.

83.

84.

He ought not have(A)/ done such a (B)/
filthy thing (C)/No error (D)

He could succeed(A)/in catching the
ball(B)/before it reaches the boundary
line(C)/No error (D)

Never once (A)/I have seen(B)/such a
beautiful sight (C)/No error (D)

Direction (85 and 86) : In each sentence there are
two blank spaces. Find out which of words given
below each sentence can be used to fill in the

blanks to match the sentence meaningfully
complete.
85. It is for every tax payer to

86.

the tax returns to the Income
Tax Department.

(A) Binding, pay

(B) Worthwhile, evade
(C) Obligatory, submit
(D) Possible, remit

He is usually but today he

appears rather
(A) calm, disturbed (B) tense, restless
(C) quiet, calm (D) calm, quiet

f&=st s

e (91 3R 92) : TAW *1d A AT Teg
TR g |

91.

A

Direction (87 - 89) : Choose the correct alternative
to fill in the blanks.

87.

88.

89.

90.
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There is an exception every
rule.

(A) by (B) in

(C) to (D) on

The accused that he had met

the deceased before
(A) refused

(B) denied

(C) defined

(D) exclaimed

Increased population one of the

major reasons for poverty.
(A) is

(B) are

(C) have been

(D) were

The noun form of “EXAMINE” is
(A) example

(B) except

(C) examination

(D) result



(A) HfT (B) w=r
(C) =& (D) gRmn
92. wIedt
(A) wfor (B) =
(C) &&=t (D) v
g (93 3 94) : 3o feenedess g gt farfiaw |
93. WM
(A) T (B) gewAmT
(C) A9 (D) 39T
94, 3Ty
(A) =W (B) Ul
(C) mTm (D) gt
95. < T8 | e 2 |
(A) ur=r (B) o=
(C) =R (D) =&
96. “TAT ATd HLAT” FaTak i 37 2
(A) ST T (B) TR 7 &
(C) owt et (D) &1 @M

97.

98.

99.

100.
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TTH TR I A ©
(A) 3T I&T 3713 |
(B) T IET TS|
(C) 39 I&T |
(D) 319 =T 3|

2%, 1 Tl i Fhgd @
(A) et

(B) e

(C) s

(D) =i

Tt o1 Stk foregredeh ue 2
(A) ¥ HEdt
(B) SATeEt
(C) ATeTE
(D) e

3T W TRl 378 foame 1 vee B
(A) 3TEATIH

(B) =4k

(C) ATk

(D) 3A=IM9RT
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